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inl: 2 2024 (A) 20234 (B) 3 Z(A-B) 2t = 20244 (A) 20234 (B) 3 Z(A-B)
2} A 27,513,298 28,089,077 A575,779 2] A 27,513,298 28,089,077 A575,779
2 A 20,455,298 18,572,077 1,883,221 2 A 24,885,818 23,751,864 1,133,954
1. A= 20,455,298 18,572,077 1,883,221] 1. AtH|E 24,885,818 23,751,864 1,133,954
7t o249 16,011,584 14,803,281 1,208,303] 7t 2|=H[& 22,965,271 22,528,123 437,148
Lt ol Q=9 4,443,714 3,768,796 674,918 1) @Iy 14,550,005 13,926,254 623,751
Ct. S20[< - - - 2) M 2 H| 2,589,240 2,819,640 230,400
3) Yt EH| 5,826,026 5,782,229 43,797
L. oz oH|8 1,815,434 950,556 864,878
Ct Sg&4 - - -
et HelMH[E 1,000 1,000 -
Of. ol 5| Hj 104,113 272,185 A168,072
2 A 758,000 2,617,000 A 1,859,000 E A 1,577,480 3,587,213 A2,009,733
2. ArE2X ¢ 758,000 2,617,000 A1,859,000] 2. AHEHX|E 1,577,480 3,587,213 A2,009,733
7t EXpRAE Y - - - | 7L BXARREE - - -
Lt 0RO 2t 4= - - - | L fERLFE 1,061,480 2,933,480 21,872,000
Ch 2+ - - o Ch FHXFZF - - 0
gt A2 Ydolasd 758,000 2,617,000 A1,859,000] 2t FEFERt 500,000 600,000 A100,000
1) BExZ24Y 758,000 2,617,000 ~1,859,000] Of 7|EtXI2HX| & - - -
2) AHE2Yo = bF. off 5| H] 16,000 53,733 A37,733

3) 0|deA=

2 A 6,300,000 6,900,000 600,000 2 A 1,050,000 750,000 300,000
3. 0|34 6,300,000 6,900,000 A600,000] 3. tHEO|X|FS 1,050,000 750,000 300,000
k.ol & & 4,000,000 5,400,000 A1,400,000] 7t Of L*HF 600,000 500,000 100,000
Lt. o|20|=F 2,300,000 1,500,000 800,000f Lt O/X|Z= 450,000 250,000 200,000




